1p 34 Which of the following fits the gap in paragraph 5?
A avoid an issue
B disprove an argument
C examine a situation
D express a desire

1p 35 How does paragraph 7 relate to paragraph 67?
A It contradicts the advantages of writing mentioned in paragraph 6.
B It explains the physical impact of writing introduced in paragraph 6.
Cc It shows that writing is more effective than suggested in paragraph 6.

Tekst 10 Movie star mystery

Drie van de onderstaande vijf zinnen (a tot en met e) zijn uit de tekst
weggelaten (zie 36-1, 36-2 en 36-3).
2p 36 Geef voor elke open plaats aan welke zin daar hoort.

Noteer de letter van de zin achter elk nummer op het antwoordblad.

Let op: er blijven twee zinnen over.

a a badly-scripted B-grade movie with cringeworthy dialogue can be
remarkably original

b millions of couch potatoes can be wrong

¢ modern audiences are immune to old-fashioned movie-star charm

d the movie star is alive and well but he or she is just not to be found on
the big screen anymore

e well-known actors playing stereotypical characters makes it such a
guilty pleasure

‘Traditionally, streaming service Netflix has held statistics about its
viewing figures close to its chest.’ (alinea 1)

1p 37 Wordt verderop in de tekst een verklaring gegeven voor het feit dat Netflix
zijn kijkcijfers meestal niet deelt?
Zo nee, antwoord ‘Nee’. Zo ja, noteer het nummer van de alinea waarin
dit gebeurt.
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